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Name: Date: Block:

Worksheet Factoring Trinomials

Factor the following completely. Look for a GCF first.

1. X" +13x-30 2. X7 =5x-24 3, X" +5x-36
a. X' +15x+56 5. X +15x+54 6. X —8x—20

7. X’ +4x-32 g x —x-20 9. x’ +11x+30
10. X +14x+49 11. X +10x+16 12. X’ 4+3x+2

13, ¥ +15x+44 15, X’ +6x+5 16. 2x° +20x+32
18, 3x’ —15x+18 19. 2x” +8x-24 20, 2x° +16x-32
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Name:

Date:

Block:

21, 3x7 +7x+2

24, 7x7 —9x+2

27. 10x% +17x+3

30. 3x2+2x—1

33, Tx? —13x-2

22, 2x" +5x+3

25. 6.‘1.‘2 +5x+1

28, 9x° —9x+2

31, 5x* —4x -1

34, 3x* +14x-5
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23, 3x* —16x+5

26. 8x* —9x+1

29. 5x* +11x+6

32. 2% +5x-3

35. 4x* —11x+7



P = product

S =sum
Name: 5 (% /l/t—l o h 5 : Block:
Worksheet/ Factoring Trinomials
Factor the following completely. Look for @irst.
ACz-30 g X7 +13x-30 2. X7 =5x-24 3, X +5x-36
?z'r: T Y riSy-2x -39 kc='2?: -3- B4 3x=-2Y he=-3( _ szr‘“""“'}L
= el :-3 h
@ = \((X“;\) —Z(XJIS) v::-S :)((Y-%\‘}B(y'g‘ g__sc :y(x_;tﬂ—"l()(-{‘l)
= <X4|§§{X‘Z\ = (\(-9)/3‘43\ (q,_qi = ()(_l!ﬂ[)("/)
a. X' +15x+56 5. X +15x+54 6. X —8x—20
AC:SQ‘L —¥E 4 Ix4Ix+5¢C AC==H N ’(2_.%“‘!*.;.4 AC=20 =X _)DX+2x-20 )
?S-‘ IS x(449) A7) p=st w (x49) + € (X3 1) ""2; g lx-1®) talx=1°
i =15 S=-
= ()(-‘?3()("’—') s=! _ (x4C = _|0\ (X"Z\)
) L &
7. X’ +4x-32 g x —x-20 9. x’ +11x+30
--20
Ac=-32 :X’-}SX"H”"ZZ A?C--Zb :Xz-Sx.}HX-ZD ACZ 30 :xl +g,(.| ZXJSO
:iz S (K4S - Y{xi9) ce- | =x(x-5)* Y(x-5) ?5-13"7 = x (x+5) 4 €A s)
R T B I B P
10. X +14x+49 11. X +10x+16 12. X 43x+2
IS o S L S N (IR S VY] L
22”.3 =q(x7) +TOH) el 2) ¥9(x42) pzz = x(xa3) +1(x2)
sslo =0 S=32 - (xA2) (x4
@ = (x4)(¥37) @ = (x42) (x+ 2) @ -
2 )
= (x4
13, ¥ +15x+44 15, X’ +6x+5 16. 2x° +20x+32
ICELI: 4 . 2y Sy+ x4 Al are Jiwsille by 2, Facke
= = 2 4 llx4 dx4d p(=S = R4+ S¥ s s e, Ve cll Hosahe GCF.
fsq‘\ls < () HH O TS ex(449 310x+5) = 2(x* 10X 16) < A
- . foni
G = G e ) G.D - (xxe) () = 2 (x42)(x43) iﬂ"‘"
]
18, 3x> —15x+18 19, 2x” +8x—24 20, 2% +16x-32
=2 (XF S+ () s 2(xT+4x -1 =2 (x*48¥x -6
pcee =3 (xF-2x-2xd ¢) pCz-12 w2 CHOX-20-12)  pes-le XWis *:“’ ,r,\c—h:r'l'
Pl Lz [ w0 ) e -2 [xoud-alnaa) €27 T is prt
S=—5 S= ‘1 S= le I
= 3(%-2) (X‘A = 2()(-1\)(,(-%) ol one L
@ @ 2,9 yr4c°-%., b
b Hxy 4-1¢C
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Date: Block:

Name:
21, 3x7 +7x+2 22, 2x" +5x+3 23, 3x* —16x+5
AC=C T+ 6X AN T2 Ac=¢ 242X t3%X43 Acs IS =3x2—‘§¥-\’*+5
PTC =3 (xdd) YV O42) ()s:-LS = 2y #30¢+1) PS5 | 5 (x-5) -1 (X-5)
$=7 - - S=-l¢
@) = 6D (3x41) DR Godoo T () (7
J2)
24, 7x7 —9x+2 25, 6x7 +5x+1 26. 8x* —9x+1
Ne=1% SIRET7n=2x 42 ACE C :(’X2+2y4$x+' he= 8 S QA -Se-Ix4
V:'L"’ =7 (x-1) 2(x-1) ol =2x(3x4D) F1(3x3) Py = By (x-N—(x!
S=" s= S S=-9 _ _
&G ¢ (1) (1x-2) @ C (333D (2% +)) = (x-D(9x-N
27. 10x% +17x+3 28, 9x° —9x+2 29. Sx7 +11x+6
NMC=30 \OK +1Sx¥2xa3 M?:qus A" bx-3%42 pC=36 =Sx®4Sxalx4 ¢ .
g=30 By (2x+)+1(2%¥D o S (e D-103X2) =30 = By (xa D)+ O]
= = j'-‘“

s=1 = (xt1) (5% C)

@ = (2x+?3(‘5)<"n a3 (DD @

30. 3x2+2x—1 31. 5x7 —4x—1 32. 2% +5x-3 |
- Z - -
hC==3 0 24 3x-Ix] RC=-5  _Sx-Sx+Ix-| AC=-C =23 FeX-IX 3\
T2 s (x+1) p<-S N b1 Pzl =2k (AP -1 (%43
N —-Yy = 51()(' S= 5 < (){JZ)(?X‘D

= (xad) (3%-1)

2 <3N (x-1) (5%+7) @

33, 7x* —13x-2 34, 3x* +14x-5 35. 4x7 —11x+7
e P jHx k-2 I ) M=29 Yy Tx 4T
e=-1Y¥ 2)410x2) =15 Ly (xiS)=1 (¥45 <28 < yy(x-)) T (x-1)
a3 = (e HK = sy (3x-) Sz-1l
= (x = (x-) (4x-7)

@ = (x-2)(7x+) @
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